12”0323 (K12n0323)

Linearized knot diagam
é\/J . ” —> %J%I%J%JHI%I%I%I%I%T%
8§ 10 2 4 10 12 6 4 9 8

K _/ Solving Sequence

> 8 —> >3 —>9—>1—>5—>0 —> Ca.C2.C
Aknotd1agrarrE| 46 710 8 10 1103 302 2 P 1 P 5 o 901112% 4, C8, C12

Ideals for irreducible component#ﬂ)f Xpar

I = (—5.93292 x 10%3® — 8.20410 x 10%°u*" + - -+ +4.97642 x 10%°b — 4.64235 x 10”7,
—1.86317 x 10°7u® — 7.56639 x 10?437 + - .. 4+ 4.97642 x 10%a — 1.47890 x 10%,
3 27 4 4 23u — 1)
o= (193u'? + 4510 + -+ + b+ 265, —473u'? — 1171u' + - +a — 874,

u' 4 3u'? — ut — 130t — 2200 — 18u® + 210" + 83u® 4 131u° + 138u” + 97u® + 42u* + 10u + 1)

* 2 irreducible components of dim¢ = 0, with total 52 representations.

1The image of knot diagram is generated by the software “Draw programme” developed by An-
drew Bartholomew(http://www.layer8.co.uk/maths/draw/index.htm#Running-draw), where we modi-
fied some parts for our purpose(https://github.com/CATSTAILs/LinksPainter).

2 All coefficients of polynomials are rational numbers. But the coefficients are sometimes approximated
in decimal forms when there is not enough margin.
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http://www.layer8.co.uk/maths/draw/index.htm#Running-draw
https://github.com/CATsTAILs/LinksPainter

L I} = (—5.93 x 10%%4® — 8.20 X 109%u37 4 ... 4 4.98 x 106b — 4.64 X
1097, —1.86 x 10°7u38 — 7.57 x 109537 4 ... + 4.98 x 10%¢a — 1.48 x
1098, w39 — 27437 + ... + 23u — 1)

(i) Arc colorings

e ()

= (o)
- ( y
3.74399u3® + 0.152045u37 + - - - — 535.809u + 29.7183
1.19221u38 + 0.164860u%7 + - - - — 144.637u + 9.32870
—12.4725u%8 — 2.14316u37 + - - - 4+ 1137.22u — 63.9305
0.330558u3® + 0.0519417u3” + - - - — 31.6927u + 2.63188
3.74399u38 + 0.152045u37 + - - - — 535.809u + 29.7183
1.24585u38 + 0.181271u37 + - - - — 144.884w + 9.17665
—8.97456u38 — 1.43150u37 + - - - 4 889.416u — 63.1649
a3 = \ —1.50003u3® — 0.226969u3" + - - - + 156.223u — 8.24024
—10.4746u%8 — 1.65847u®" + - - - 4+ 1045.64u — 71.4051
az = \ —1.50003u38 — 0.226969u>7 + - - - + 156.223u — 8.24024
—31.1624u3%8 — 4.81610u3" + - - - + 3104.14w — 177.973
a1 = \ —0.404984438 — 0.0547518u37 + - - - + 61.2052u — 2.70494
—4.84811u%8 — 0.726842u%7 + - - - 4+ 500.726u — 13.4811
as =\ 2.04459u38 + 0.303981u37 + - - - — 209.069u + 11.7457
2.55178u3® — 0.0128147u3" + - - - — 391.172u + 20.3896
a9 = \ 1.19221u%8 + 0.164860u3" + - - - — 144.637u + 9.32870

11.7457u3® + 2.04459u37 + - - - — 1039.19u + 61.0824
a12 = \ 0.0960919u°8 4 0.00947475u37 + - - - — 14.9880u + 0.00924794

(ii) Obstruction class = —1

(iii) Cusp Shapes = 2.40504u3® + 0.306842u37 + - - - — 347.511u + 22.5697



(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
! w3 + 1603 4 - 4+ 3290 + 1
2, Cs w4 1501
€3 w3 10037 4 - 4+ 249u — 171
4, C10 w4 Tu—1
Co w3 — 27T - 4230 — 1
cr w3 2038 + .. — 45490 — 567
cg,C11,C12 w4 4 — T9u — 29
€9 w3 17U 4 — 4121u — 2447




(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
gl y? 4+ 24y°% + - + 99345y — 1
c2,Cs Y3 — 16y + .-+ 329y — 1
€3 Y30 + 20938 + ... — 233145y — 29241
¢4, C10 Y30 449938 4. — 4Ty — 1
Ce y39_54y38++67y_1
c 39 38
7 y°” +40y°° + - - - + 13389307y — 321489
€8, C11,C12 30 42238 ... — 13189y — 841
Co y39+34y38_~_“.

— 55732411y — 5987809




Solutions to I}

(vi) Complex Volumes and Cusp Shapes

V=1 (vol + y/=1CS)

Cusp shape

u = —0.994299 4 0.27241471
a= 0.463680 — 0.9272591
b= 1.018090 — 0.6786561

—0.629315 4 0.6976681

—0.69777 4 1.968471

u = —0.994299 — 0.2724147]
0.463680 + 0.9272591
1.018090 + 0.678656.1

b:

—0.629315 — 0.6976681

—0.69777 — 1.968471

0.649416 + 0.5450461
0.543557 + 0.8592561
b= 10.932275 + 0.7039311

u =

a =

—0.04361 + 5.032891

—0.70677 — 5.747731

u = 0.649416 — 0.5450461
= 0.543557 — 0.8592561
0.932275 — 0.7039311

—0.04361 — 5.032891

—0.70677 + 5.747731

—1.003940 + 0.6923411
0.328055 — 0.8422051
—1.78302 — 0.034841

—1.32978 — 3.674851

—1.003940 — 0.6923411
= 0.328055 + 0.8422051
= —1.78302 + 0.034841

—1.32978 + 3.674851

= —0.639274 + 0.1923011
0.756843 — 0.6819211
0.300034 — 0.3986331

—1.39152 + 0.618291

—4.65215 — 1.068181

—0.639274 — 0.1923011
0.756843 + 0.6819211
0.300034 + 0.3986331

—1.39152 — 0.618291

—4.65215 4 1.068181

0.593939 + 0.2188941
0.976981 + 0.8751071
—1.005710 4 0.2763701

1.53232 — 0.339291

2.22376 4 1.906941

0.593939 — 0.2188941
= 0.976981 — 0.8751071
= —1.005710 — 0.2763701

1.53232 + 0.339291

2.22376 — 1.906941




Solutions to I}

V=1 (vol + v/=1C5)

Cusp shape

= 0.09219 4 1.417741
0.1177060 + 0.00033381
—0.544510 — 0.7623811

3.32998 4 1.361801

0.09219 — 1.417741
0.1177060 — 0.00033381
= —0.544510 + 0.7623811

U
a
b
U
a
b

3.32998 — 1.361801

u = —1.58355 + 0.071097
a= 0.242255 4 1.0009401
b= 0.550049 + 1.2951501

—2.17716 4 0.585021

u = —1.58355 — 0.071091
a = 0.242255 — 1.0009401
b= 0.550049 — 1.2951501

—2.17716 — 0.585021

u= 152238+ 0.497701
a = —0.599371 — 0.8102621
b= 10.202320 — 1.2856201

—8.76356 4 1.011881

uw=1.52238 —0.497701
a = —0.599371 + 0.8102621
b= 10.202320 + 1.2856201

—8.76356 — 1.011881

u = —0.45538 + 1.564261
a = —0.0753063 — 0.05306971
b = —0.505804 + 0.9646551

2.41500 + 4.975391

u = —0.45538 — 1.564261
a = —0.0753063 + 0.05306971
b = —0.505804 — 0.9646551

2.41500 — 4.975391

= —0.164690 + 0.3032091
= 0.604983 + 0.8988511
0.880121 + 0.7626171

—4.06684 + 2.906591

6.73557 + 0.484601

= —0.164690 — 0.3032091
0.604983 — 0.8988511
0.880121 — 0.7626171

> & €| & €
|

—4.06684 — 2.906591

6.73557 — 0.484601




Solutions to I} V—1(vol + /=1CS) Cusp shape

u= 1651344 0.170171

a= 0.210060 — 1.091670I | —2.82025 — 6.808961 0
b= 0.59401 — 1.301211
u= 165134 —0.170171

a= 0.210060 4 1.091670I | —2.82025 + 6.808961 0
b= 0.59401 + 1.301211

u= 0.316011

a= 1.69045 1.11789 11.2670

b= —0.597495
u= 1.78797 + 0.235461

a = —0.175928 — 1.026470I | —9.84094 — 3.145771 0
b= 0426419 — 1.2817007
u= 178797 — 0.235461

a = —0.175928 4+ 1.026470I | —9.84094 + 3.145771 0

b= 0.426419 + 1.2817001

u= 0.147459 4 0.0182401
a= 893744 + 0.129751
b= —0.052132 — 0.8180991

2.82165 + 0.442201

0.165551 — 1.2512127

u= 0.147459 — 0.0182401
a= 893744 —0.12975]
b= —0.052132 + 0.8180991

2.82165 — 0.442201

0.165551 + 1.2512121

u = 0.0757690 + 0.10103801

a = —9.82475 4 6.732991
b= 0.096930 — 1.0777801

1.58306 + 6.333071

—2.17277 — 5.352021

u= 0.0757690 — 0.10103801

a = —9.82475 — 6.732991
b= 0.096930 + 1.0777801

1.58306 — 6.333071

—2.17277 4 5.352021

u = —1.81753 + 0.768791
a = —0.361839 + 0.5999561
b= 0.192205 + 1.1299901

—8.14778 + 2.968911




Solutions to I3

V=1(vol + y/=1CS)

Cusp shape

= —1.81753 — 0.768791
= —0.361839 — 0.5999561
0.192205 — 1.1299901

—8.14778 — 2.968911

1.99569 + 0.165931
= 0.098834 + 0.9382331
= 0.13027 + 2.535031

—12.47920 — 1.550571

1.99569 — 0.165931
= 0.098834 — 0.9382331
= 0.13027 — 2.535031

—12.47920 4- 1.550571

—1.97927 4 0.412821
0.025347 — 0.8795071
—0.64583 — 1.829891

—4.36641 + 6.383231

—1.97927 — 0.412821
= 0.025347 + 0.8795071
= —0.64583 + 1.829891

—4.36641 — 6.383231

= 2.03401 + 0.41923I
= —0.017030 + 0.9009731
= —0.90609 + 1.739681

—6.3597 — 13.38711

= 2.03401 — 0.41923I
= —0.017030 — 0.9009731
= —0.90609 — 1.739681

—6.3597 + 13.38711

= —2.07024 + 0.281341
= —0.096745 + 0.7608481
= 0.419131 4 1.0901401

—9.04262 + 0.687571

= —2.07024 — 0.281341
= —0.096745 — 0.7608481
= 0.419131 — 1.0901401

—9.04262 — 0.687571




II. ¥ = (193u'? 4+ 451u't 4 -+ - + b+ 265, —473u'? — 1171u't 4 -+

874, u'® +3u'?2 + ... +10u + 1)

(i) Arc colorings

(0
)
;)

473012 + 11710 + -
193u'2 — 451utt + -
—8u'? — 24uM 4
512u'2 + 1280u!! + -
473u2 + 1171wt + -

(o
(
o-(*
o=
(320u12 768u11+
(T
C
(
C
(*

ag =

47u12 1240t 4 - -
12 _g,11 4 ...

48u12 127t + ... —

ag =

12202 + 318u*! + -

ap = 30u'? + 83u!l +-

103u'2 — 278u!t + - .-
—8ul2 — 23y 4 ...

a5 =

666ut? + 1622ul! + -

ag = 193412 — 451!t + -

—39u!? —109ut! - -
arz = \ 192u!? + 512u!t + - .-

(ii) Obstruction class =1

(iii) Cusp Shapes = 1726u'? + 4212u!!
4530915 + 117921u° + 159920u* + 148350u3 + 8398912 + 25167u + 3051

—ul? — 3ultt + ...

-+ 7192u 4 874
— 2345u — 265
— 273u — 46

-+ 8192w 4 1023

-4 7192u 4 874
— 4352u — 513

— 1013w — 142

—42u —9
1055u — 151

—42u —9

-+ 2113u + 256

-+ 719u + 103

— 2217u — 303
—239u — 39

-+ 9537u + 1139
— 2345u — 265

— 1000w — 151
+ 3840u + 511

.+a_

— 4090u'% — 20161u° — 26665u8 — 16081u” +



(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
! u® —9ur? 4+ 1du — 1
€2 uP F3ut o —2u—1
€3 u® —u'? o 4 du—1
€4 u +6ult 4 20— 1
¢ ul® —3ut? + . —2u+1
Co u® 4+ 3ur? 4+ 10u+ 1
¢ u® +ul? 20+ 1
cs u® +3ut? 4+ 2u 1
9 u® —ul? o du -1
C10 B+ 6utt - F2u+1

€11, C12 ut® —3ul? o 2u—1

10



(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
c1 gy 30y — 1
C2,C5 Yy =9y 14y — 1
c3 YB3y 12y — 1
C4,C10 yB 12y . — 10y — 1
Co g 11y 4 16y — 1
cr Y 11y 4 4y — 1
€8, C11, C12 Yy 9yt — 16y — 1
Co yB oy 4 2y 1

11



Solutions to I3

(vi) Complex Volumes and Cusp Shapes

V=1(vol + y/=1C)

Cusp shape

u = —0.299683 + 1.0533201
a= 0.593765 + 0.6221581
b= —0.346775 — 0.4998801

4.03587 + 0.383761

4.73339 + 0.120171

u = —0.299683 — 1.0533201
a= 0.593765 — 0.6221581
b = —0.346775 4 0.4998801

4.03587 — 0.383761

4.73339 — 0.120171

u = 0.044736 4 1.2036801
a= 0.410218 — 0.6749561
b = —0.125085 4 0.679786.1

3.18980 + 5.960211

3.63825 — 5.770741

u = 0.044736 — 1.2036801
a= 0.410218 4 0.6749561
b= —0.125085 — 0.6797861

3.18980 — 5.960211

3.63825 4 5.770741

u = —0.647940
a= 1.04389
b= —0.521466

0.639171

—8.02710

u = —0.515856 + 0.0390181
a= 0.102601 4 0.7415571
b= 10.957371 — 0.6466291

—4.52059 — 3.125801

—8.05352 4 6.051221

u = —0.515856 — 0.0390181
a= 0.102601 — 0.7415571
b= 0.957371 + 0.6466291

—4.52059 + 3.125801

—8.05352 — 6.051221

u = —0.448017 4 0.1191821
a = —0.19232 — 2.524861
b= —1.181340 — 0.0329917

—0.43607 — 1.977071

—0.56144 + 3.204841

u = —0.448017 — 0.1191821
a = —0.19232 + 2.524861
b= —1.181340 + 0.0329911

—0.43607 + 1.977071

—0.56144 — 3.204841

u = —1.92525 + 0.433851
a = —0.245558 4 0.7676191
b= 0.294055 + 1.0356301

—9.09336 + 1.743941

—4.69358 — 2.803161

12



Solutions to I3

V=1 (vol + y/=1CS)

Cusp shape

= —1.92525 — 0.433851
—0.245558 — 0.7676191
0.294055 — 1.0356301

—9.09336 — 1.743941

—4.69358 + 2.803161

1.96804 + 0.29336.1

0.16250 — 2.234531

—13.23440 — 0.872231

—6.54954 — 0.630821

1.96804 — 0.293361
—0.190656 + 0.9236451
0.16250 + 2.234531

U
a
b
U
a = —0.190656 — 0.9236451
b
U
a
b

—13.23440 + 0.872231

—6.54954 + 0.630821

13



ITI. u-Polynomials

Crossings u-Polynomials at each crossing

1 (u'® —9u'? + - 4 1du — 1)(u® + 1663 + - -+ + 3290 + 1)
C2 (w4 3u'? - —2u — 1) (w3 + 4 + -+ 15u — 1)
cs (u' —ul? 4+ du— 1) (W + 10637 4 - 4+ 2490 — 171)
Ca (W' +6utt + -+ 2u— 1) (W + U+ Tu— 1)
Cs (u'® —3u'? - = 2u+ 1) (w3 + 4 + -+ 15u — 1)
Ce (u' +3u? + -+ 100+ 1) (u® — 273" + - 4+ 23u — 1)
¢ (u +ul? + 20 + 1) (W + 20 + - — 45490 — 567)
Cs (u'® +3u'? + - 4 2u+ 1) (63 + 4038 4 . — T9u — 29)
co (u' —u'? + o du— 1) (WP + 17637 4+ - — 4121 — 2447)
c10 (u' +6u + -+ 2u+ )W+ Tu— 1)

c11, C12 (u® = 3u'? - 4 2u — 1) (w3 + 4 4 - — T9u — 29)

14



IV. Riley Polynomials

Crossings Riley Polynomials at each crossing
€1 (¥ =y + -+ 30y — 1) (™ + 24y + - + 99345y — 1)
C2,C (y" = 9y™ + - + 1y — 1)(y* — 165 + - + 320y — 1)
€3 (y'3 + 3" + - — 12y — 1)(3° + 20y + - - — 233145y — 29241)
¢4, 10 (P + 12912+ — 10y — 1) (2 + 4998 + .. — 4Ty — 1)
G (y"° =1y + -+ 16y — 1) (5> = 54y™ + -~ + 67y — 1)
cr (" + 11y + - —dy — 1)
(30 4 40938 4 - .- + 13389307y — 321489)
Cs, C11,C12 (y"3 +9y'2 + - — 16y — 1)(y* + 22y + - - — 13189y — 841)
¢y (P + 9y +- - —2y— 1)

(Y + 34y + - — 55732411y — 5987809)

15



